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Diagram NOT
accurately drawn

8 cm

o
POR is aright-angled triangle.
PO =16 cm.
PR =8 cm.

Calculate the length of OR.
Give your answer correct to 2 decim%_l places.

QRZ = Iél — 8
—Z 42
oR = Jlé -3

-13.56 tim

X 32 cm

1.7cm

VA

XYZ is aright-angled triangle.
XY=32cm.
XZ=1.7cm.

Calculate the length of YZ.

Give your answer correct to 3 significant figures.

ya
YZ(L: [-:Itl + 3.1

T
\(Z: ]?7‘1—31

_ 3.620m

Diagram NOT
accurately drawn

(3 marks)
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Diagram NOT

4 accurately drawn
8 cm
U s

11 cm

ABC is aright-angled triangle.

AB =8 cm,
BC=11cm.

Calculate the length of AC.
Give your answer correct to 3 significant figures.

L
Act: 8L+
1
N
= [ E) cm
............... 3.6 ..........cm
(3 marks)
s Diagram NOT
accurately drawn
3.7m
M 6.3 m N
Angle MLN = 90°.
IM=3.7m.
MN=6.3 m.
Work out the length of LN.
Give your answer correct to 3 significant figures.
7
LN‘l = 6.52 - 3.1
Z
LN = \}6'32- 34
_ 5.10m
IN=............ M0 m
(3 marks)

The Maths Society



Diagram NOT

A B accurately drawn
17 cm
10 cm
D ] C
ABCD is a rectangle.
AC=17 cm.
AD =10 cm.

Calculate the length of the side CD.
Give your answer correct to one decimal place.

12 1 1
Ch =/ -10
1
T _1\0
Lo, JAT-©
13.FcM
T - RO S cm
(3 marks)
Yok
‘ x
157 km
Leicester 168 km - Norwich

Diagram NOT accurately drawn

The diagram shows three cities.
Norwich is 168 km due East of Leicester.
York is 157 km due North of Leicester.

Calculate the distance between Norwich and York.
Give your answer correct to the nearest kilometre.

7
N T

I
: ﬁ541+|66Z

_ 219. 1

................................ km
- K
- 130 (3 marks)

The Maths Society



A
G2 34cm

A
v

45 cm

Diagram NOT
accurately drawn

A rectangular television screen has a width of 45 cm and a height of 34 cm.

Work out the length of the diagonal of the screen.
Give your answer correct to the nearest centimetre.

2 2 2
% = yYs +34

2
U - J ys + ?)L|2
- Seum
T e Y. 3 cm
(4 marks)
A
l
I
|
[
7 cm :
"I
I
I
I
Y ' 4
B ma &
M
< 8 cm >
Diagram NOT accurately drawn
Work out the length, in centimetres, of AM.
Give your answer correct to 2 decimal places.
2 yA 2
x =9 -4
—1 2
x = J 3 -
-9 AYem 9.3Y........ cm
(3 marks)

The Maths Society



A 2.1m D
[
! 32m
1.9m (LY
|
[}
o !
B 1.1m 7 (6

Diagram NOT accurately drawn

ABCD is a trapezium.

AD is parallel to BC.

Angle 4 = angle B =90.

AD=21m, AB=19m, CD=32m.

Work out the length of BC.
Give your answer correct to 3 significant figures.

1 L
‘I'Z: 31 - ,Of

1

- 25748
Bc-2. 3N § GVE SN WY D obFn, m
= U.pFm (4 marks)
10.
B
9cm
B
A 6cm (64

Diagram NOT accurately drawn
ABC is aright-angled triangle.

AC =6 cm.
BC=9cm.

Work out the length of AB.
Give your answer correct to 3 significant figures.

1,2 1
AB-‘LZG/{
AB:JQ-G

) éqlcm ....... P PO

The Maths Society

(3 marks)




11.

B
10cm
-
A 20cm ¢
Diagram NOT accurately drawn

In triangle ABC,
AB=10cm
AC=20cm
angle BAC = 90°
Work out the length of BC.

Give your answer correct to 3 significant figures.
You must state the units in your answer.
2
5(?' = b + 20°

pC . Jiot+ 20"
= z.yem By LT - .. L7 A TSN
(4 marks)
12,
X
5.6cm
—l )
Y 10.5cm
Diagram NOT
accurately drawn
In the triangle XYZ XZl _ 5.61 +10 .62
XY =5.6cm 7 2
YZ =10.5 cm AL - JSenrion
angle XYZ =90 = G em
Work out the length of XZ.
............ Je 8 cm
(3 marks)

The Maths Society



13. ABCD is a trapezium.

1 Diagram NOT
Y accurately drawn

9em|— — - =3 - _ \D

N
AN
N 3cm
! :
B 8 c
AD =10 cm 0 )
AB =9 cm Yy = 0 -6
DC=3cm —5 .z
Angle ABC = angle BCD = 90° y = j 6" -6
Calculate the length of AC. - dm
Give your answer correct to 3 significant figures.
e t
Ac - G + 8
— g%
+Ag | ja, +
(2.0LM
SISO 3L U, cm
( 5 marks)

14. A ladder is 6 m long.
The ladder is placed on horizontal ground, resting against a vertical wall.

The instructions for using the ladder say that the bottom of the ladder must not be closer than 1.5 m
from the bottom of the wall.

How far up the wall can the ladder reach?
Give your answer correct to 1 decimal place.

, 2 2
X :6 —-(.5
—3 _1
X :Jé —( 5
b
"
- J.8m
1.5m
5.%m
.................................................................................. m
(4 marks)

The Maths Society



A 4.8 cm

Calculate the length of AC.

A
AC,lz' q-‘ﬁl +3.6

3.6 cm

< bCm
RSO S cm
(Total for question 1 is 3 marks)
A __I B
6.75 em 17.55 cm
(6

Calculate the length of 4B.
1 2 L
AR - 1135 -615

e T
aB - 11557 p 15"

- 16-2em

RSN 12T cm

(Total for question 2 is 3 marks)

The Maths Society -




3 A
14 cm
6 cm
5
B &)
Calculate the length of BC.
Give your answer to 1 decimal place.
2
2 2
BCc - W -6
S
2 7
BC= JW -6
- 12,6
,26 ...................... cm
(Total for question 3 is 3 marks)
A
4.2 cm
=
C
b 5.6 cm
Calculate the length of AC.
2 L L3556 ‘
ACT = Y2 =+ 9
I
A
ﬁ C - j l—‘ 22 ~ 5 -6
= _‘]LCVV\
SRR F e cm
(Total for question 4 is 3 marks)

The Maths Society
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9 10 m
Calculate the length of the AD. D
Give your answer to 3 significant figures.
19m
4 14m y
2 2 2
e = 19 =
L 7
AC - J Iq - N
. 12.9u523523
2
A L
....... ’é’\bm
= 6.3 (Total for question 5 is 4 marks)
Calculate the length of the AB. B
Give your answer to 3 significant figures.
/L\CQ: ?2 _,,sz 9.5cm
R
AC - j?z - u?
B-06 4 &

N 2
pg’. 4.3 - 8.06

2 2 4 cm
AB - | 57 - 806 7 cm

. 5. p2Cm

oo 2292 cm

(Total for question 5 is 4 marks)

The Maths Society L




7 A 17 cm B
8 cm
D ¢
ABCD is a rectangle .
Calculate the length of the diagonal AC.
Give your answer correct to 1 decimal place.
2 1
ACY 177 + 8
I
AcC - J 14 z + 3 -
18- genn
I88 ............................ cm
(Total for question 7 is 3 marks)
8 ABCD is a trapezium. A 15 cm B
Calculate the length of BC.
2 9
Y 2: [ -15 z .
2 7
y= -5 e 15om
C
8em
BC:= 12-§ J 17 em
Fem
- Hem D
OIS S cm

(Total for question 8 is 3 marks)

The Maths Society




-

9 ABC is an isosceles triangle.

Calculate the perpendicular height of 4ABC.

Give your answer correct to 3 significant figures..

2
l.'l: ]61— Yy

- -

X = j|°7-_l_!2

- .13 em

10 cm

8 cm

(Total for question 9 is 3 marks)

10 ABCD is a trapezium.

Calculate the length of AC.

Give your answer correct to 3 significant figures..

91: 152_52

= 1Lem
AC'L: IZZ+ 57_
Ac =_’l7_1+52

= ISCM

3cm

(O
13 cm
5
Y lem 8 cm
11 D
.............. lacm

(Total for question 10 is 4 marks)

The Maths Society




11 A ship leaves point A and sails for 3.7 km due North.
The ship then sails for 2.4 km due East to reach point B.

Calculate the the shortest distance between point A and point B.
Give your answer correct to 1 decimal place.

9.4km 6

3.7

m

2
F\Bl = B.ql + 2.4
AB - [3a% 2.9°

- U.Ylem

(Total for question 11 is 3 marks)

12 A ladder reaches 2.5 m up a vertical wall.
The base of the ladder is 70 cm from the base of the wall on a horizontal ground.

Find the length of the ladder.

2.5m
( 250um)

16cm

2 K
1t 250 + 30
—
2
k;JlSo7'+=l°

- 159.6CM

= 26”\

(Total for question 12 is 4 marks)

\_ The Maths Society




13 ABCD is a square.
The diagonal of the square is 8 m.

Calculate the perimeter of the square.

Give your answer correct to one decimal place.
2

<2 & x%. 8
1xt = 6y
h_'L - 32_
\ o 5T
51m
P: 5.9x(
-22.3

A B
8 m %
D L& C
........... 22.8 .

(Total for question 13 is 3 marks)

14 A television has a diagonal length of 50 inches.

The ratio of the length of the television to the width of the television is 4:3

Calculate the length and the width of the television.
Give your answers correct to 1 decimal place.

50
Uk
3x
N 1
LI'Jc1 4 3 = 50
32" < 2500
o b . 35714 ..
% o. | 35314
. 18.9
(1) Ur=1%5.9xY
- 16.6

| 717,11 R, E LT N—— inches

Width .06 3 e, inches

K (W) ax = 15 4¢3.56617

(Total for question 14 is 3 marks)/

The Maths Society
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e

Shown below is a right angled triangle.

Not drawn
X accurately
6cm
-
8cm
Use Pythagoras’ theorem to work out the value of x.
')1.2-_; 62 + 82
R
A = Jse + 64
 [1e0
-jo
....... 0. oM
(3)
2.
- Not drawn A
fﬁé accurately
8cm
B C
15¢cm
ABC is a right angled triangle.
AC =8cm
BC = 15cm
Calculate the length of AB.
AB'L: |51+ 81
B - Ju5+ey
= | 189
- [Fem
....... Heeeee.cm
(3)

The Maths Society
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- Not to scale
= 20cm
B
ABC is a right-angled triangle.
AC =6cm
AB =20cm

Calculate the length of BC.
Give your answer correct to 1 decimal place.

2 1
Bl - 20" -6
2

BC= |20%-6
- )g9.1tm
4. Below is a right-angled triangle.
= 3m
& - J
Xm
9.25m

Work out the value of x

1 1
’X"L: q'lﬁ '/3
e

= | 8257 -3

. 8.5 m

© Corbettmaths 2023

6cm
C
I L 7% E— cm
(3)
Not drawn
accurately
...... §.10 ....m

The Maths Society 3)



5.

N

Not to scale

Shown below is a right angled triangle, CDE.
=
13cm
D C
12cm
Work out the length of CE.
2
(E* (3 - 12
e - J 169 - Uy
. 5
= v
...... ZeeeieeeenCM
(3)
A Not drawn
accurately
7cm
6
24cm

il @

B

ABC is a right-angled triangle.

AC =7cm.
BC = 24cm.
Calculate the length of AB.
/.\B1 LI
YA iy
palaidl

© Corbettmaths 2023
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74 Shown is a right-angled triangle.
= Not to scale

7cm

10cm

Work out the perimeter of the triangle
Give your answer to 1 decimal place.
NN,
¥ = |40 +100
. r.2em

P: 7 400+ (1.2

. 79.2CMm
...... 28T ..cm
2 4)
8 40cm

X

Charles says that the length of the missing side is 41cm.
Here is his method:
a®+ b? =c?

92 +40% x*)

81 + 1600 = x?
x? =1681
X = 41lcm
Explain his mistake.
................... O o OO

The Maths Society (1)
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Not drawn

9.
% to scale
B 14cm
10cm
[ 1 X
Shown is a right-angled triangle.
Calculate the area of the triangle
xZoyt- o
x = J = 10°
- §.80¢em
arec. = ';’x g.30 x 10
R
= 4q.0cM
T L cm?2
Pl " ma MBS 4)
10.
EE? Not drawn to scale
4m
K
1
1.5m
A 4 metre ladder is placed against a vertical wall.
The base of the ladder is 1.5 metres from the base of the wall.
Work out how far the ladder reaches up the wall.
'X_’L-; LI')- -5 b
1 -2
%oz j ul -1-5
- 3 :}M
3.7 m

The Maths Society  ©
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1. R 50cm s Not drawn
E accurately

2m

T

RST is a right-angled triangle.

RS is 50cm - ©.56m
ST is 2m

Calculate the length of RT
Give your answer in metres, correct to 1 decimal place.

R
RTl: )b 0.5

i1, [0t

2 1-4m

12.  Belinda sketches the triangle below.
% Not drawn
v accurately

4 5cm 5.3cm

2.8cm

Show that the triangle is right-angled.
W5 r2.8" - Jastre’

530

The Maths Society
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13. Nicole draws a triangle.
The lengths of the sides are 4cm, 6cm and 7cm.

Is the triangle a right-angled triangle?
Explain your answer.

(2
14.
% """"" Not drawn accurately
. 20m
18m
The distance from a point on the ground to the base of a tree is 18 metres.
The distance from a point on the ground to the top of a tree is 20 metres.
Calculate the height of the tree.
Give the answer correct to 1 decimal place.
13
'KL: 102 - 18
2 5l
K= [206% -18
_ 9-3m
WO T F——— m

The Maths Society 3)
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15.  Shown below is a rectangle.

o 20cm
= 7cm
Find the length of the diagonal, x.
'}(_L: 201 + 3 :
v . [0 42"
. 21.0eMm
....... 21:2..........cm
(3)
16. Below is rectangle, ABCD
- A B
5cm 13cm
D C
AD =5cm
BD = 13cm
Calculate the area of rectangle ABCD.
;\&72 3% - 5'l
Ao . J18T- 8°
= 12em
drey = (lem x Hem
= soem®
21 cm?

The Maths Society (3)
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17. ABC is an isosceles trianale.

S—E? 2(83 - EC =ibem B Not drawn
=0CM : accurately
15 R 15
A 5cm C
Calculate the height of the triangle, h.
hz: 82 - 1. 5 2
- _ 7
. [8-23
- F.6em
. 11 W— cm

18.  Ahelicopter is flying from Redville to Leek.

The helicopter departs Redville, flies 60 miles west, then 25 miles north and
arrives in Leek.

Work out the direct distance of Leek from Redville.

2C
)

60

2
x' - 25° + 60

’—’—Z/’/{
) = J 25° + 60
esmiley R miles

The Maths Society
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19.  Aline joining the points L (-3, 2) and M(1, -3)

s~ Y

L
X 2
1
4 B 2N 09 1 2 3 a*
1
-2
N\ M
=3 .4
-4
Work out the length of line LM.
Give your answer to 3 decimal places. 3
% 2 1 (3)
LM = 5 + Y
1. 4L
LM - J 5«4
. b.Yodm

20. A council are designing a dog park that will be in a rectangular field.
% The length of the field is twice the width of the field.

—
e

The field will be divided by a wall into two sections, one for large dogs and the
other for small dogs.

Large Dogs Z0m

Small Dogs

< e - S0

10 -60 = 30
Work out the length of the wall dividing the two sections.

2 2
2. 807+ 30

066 .3M

The Maths Society @



21. Below are two triangles, ABC and BCD.

= D
11cm
C X
6cm
.
A 7cm B
Find the length of BD.
I T
BC < 6 +7 5D:Jq2 +1(
BC: [(F4al ™y
- N B
Bo> - 5.1 4 0 )

22. Aframe is made from wire.
% The frame is a trapezium.

15

20cm
13cm

15¢cm

Calculate the total length of wire needed to make the frame.
Give your answer to 2 decimal places.

At - :ll-l— 152
< 16.:55cm
LEDD
Htal = 16-55+ 20 ¢ 13+19 The Ma‘l’hS SOCiefy

= bU.5HCcm

4



23. Shown below is an equilateral triangle of side length 4cm

%
B Not drawn
accurately
W/ \
a ]
4cm
Calculate the area of the triangle
L: L|.L -2
1
w = ql -2
. 3.Ue
areg = [ 4 ny 246
............ boo.....M2
(.9
(5)

24. Rebecca makes a metal frame for a brooch by joining@ pieces of wire.

E
B 4cm C Not drawn
] accurately
3 4
5cm
B
A D

1.6cm

The mass of the wire is 0.489g per centimetre.

Calculate the mass of the metal frame.

A(_Z . 57’ - LIL
AC - Jsl’ Lll
_ M

>

2

2 2 6

L8k
0C §.3'3
pc. 37T

s The Maths Society ()

fotal = 4+5+3 3.4+ 1.6
= 1
masy : (3 x 0.U8G = 3.3133



25.  Shown below is a right-angled triangle and a circle.

9cm 10cm

The perimeter of the triangle is equal to the circumference of the circle.

Find the diameter of the circle, x.
L LT

,,_=J‘]1+101

- 13.5uM
fiomefer = 13.3 + &+ 10
;3.9 e8P D, cm
(4)
26. Shown below is a right-angled triangle.
10 cm
V3 cm
X
Work out the length of x
Leave your answer as a surd.
) 2
- 10 - (J3D
w = J 00 - 3
- (97 wm ——
......... JQ?cm
(3)
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